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The figures in the margin indicqte Jull marks
for the questions

1. Answer all of the following a5 directed : 1x7=7
(a) What is a control chart?
(b) Define the general fertility rate.

(c) What does the [, column of 4 complete
life table denote?

(d) In SQC, when X chart is ygeq?
(e) What are the control limits of p-chart?
() What is epidemiology?

(g9 AOQL means —
( Fill in the blank )
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(2)

2. Answer all questiong - 2x4=8

(@) Explain the difference between crude
death rate anqg standardized death rate.

(b) What are the important sources of
demographic gatap

(c) Wha.t is the composition of National
Statistical Gommigsion?

(d) Disﬁpguish between tolerance limit and
Specification Jipt

3. Answer any the, questions : 5x3=15
(@) Give the statisti basis of 3-sigma
limits, el

(b) Discuss the important highlights of
Census 20171,

(c) Peﬁne describe  the ’.cen,ns

(d) DiStiI‘lguish between the central death
) the probability of death (p,)
and the force of mortality (ky) in a life
table, Indicqte possible interrelationship
among these measures.

() In a sip

: of attributes
with Iotglf‘-‘_ sampling plan

N, sample size n and
dEfectiv:e ¢, how will you obtain
. pmbabﬂit}’ of acceptance of the lot if
aCtion defectives are p? How Wﬂl

the above expression using
PProximation?

“WERE ( Continued )

4. Answer any three questions :

(@)

(b)

()

(@

(e)

8A—2000/916

(3)

Discuss different fertility rates comparing
their advantages and disadvantages.

Explain the fitting of logistic curve by a
suitable method.

Describe the various components of a life
table. How is the expectations of life at
birth determined from a life table? How
can it be calculated from census data?

For X and R charts, discuss the following :
(i) Statistical basis of construction
(ii) Inference from the charts

: tood by SQC? Discuss
What is unders i
briefly its need and utility in industry.

What are Stationary - and stable
opulations? Discuss and differentiate
p

between the tWo-:

* * &

10x3=30
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